SN ANRENT
B CAP QT2 1
Chol: HEBED BOHE O]

OIS 0|28 T4 EERED
SN BB SA(S) - MBAY - BES 0l &t plE-E HIRE2
ANEEA2 8,710,925 8,713,767 A2,842
= 69,300 69,300 0
= 201,000 201,000 0
=2 177,324 177,324 0
< 543,740 542,630 1,110
Al 7,719,561 7,723,513 A3,952
SA2 QlEe = 7,243,107 7,212,351 30,756
& 201,000 201,000 0
=2 177,324 177,324 0
S 479,320 479,320 0
Al 6,385,463 6,354,707 30,756
XMoot Hotst o|=etd &4 2,966,177 2,935,421 30,756
AL EE HA 330,400 299,644 30,756
401 A&HIRH S0 269,347 238,591 30,756
01 Al&HI 269,347 238,591 30,756
Od=EAM2t 83 e 30,756 0 30,756
—AIC M2 SHEA HE(2SXH)
21,538,000 21,538 0 21,538
-2 N SHEA HES(SAH
9,218,000& 9,218 0 9,218
0l #0iote SM23 843 353,170 349,060 4,110
= 69,300 69,300 0
= 64,420 63,310 1,110
Al 219,450 216,450 3,000
Hel= Al B S| 353,170 349,060 4,110
= 69,300 69,300 0
= 64,420 63,310 1,110
Al 219,450 216,450 3,000
HIODE Aq= 2HEAL 2 11,110 10,000 1,110
= 1,110 0 1,110
Al 10,000 10,000 0
201 Ler23H| 11,110 10,000 1,110
1,110 0 1,110
10,000 10,000 0
03 HAt2EH| 11,110 10,000 1,110
ONMta EXM2235te0te A XI&HI
11,110,000& 11,110 10,000 1,110
1,110 0 1,110
10,000 10,000 0
AMBIEN EXA2e 2208 24 78,860 75,860 3,000
203 HR=&H| 6,000 3,000 3,000
03 AIMF=AHR2FAH| 6,000 3,000 3,000
OZN22E ANMPRFA 6,000,000 6,000 3,000 3,000
SAALI (AR EZA2) 798,188 904,156 A~ 105,968
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FAANEEA2
M YH2ABH(NYEND)
ci9l: ol 2ay| (etol:®e)
SA - EH . S(3H) - MRAY - BaS Ofl 6t o4 I HI RS2
el 2| 207,185 319,093 A111,908
kala] 197,820 311,093 AT113,273
101 2124 197,820 311,093 A113,273
01 2= 197,820 311,093 A113,273
Oxl=2 e 197,820 311,093 A113,273
—52(2eh)
(9,796 x 1L 28AI 2t %128 )+(9, 7962 x2H *2 4,938 3,292 1,646
BAIZH<3E)
—62(2e)
(8,312 x10H *28 Al 2t+ 128 )+(8, 3122 x2H * 29,325 73,512 N44,187
28A12t+31)
—62(8d) 8,312 x 167 Al 2H+ 122 6,683 0 6,683
—7=(g)
(7,457 2+ 13828 A 2t 128 )+(7, 457 21 x3H * 34,452 77,941 A43,489
28A12t+3)
—8=(g) 6,682 x5 *28A| 2+ 12 11,226 32,234 /21,008
—8=2(8d) 6,682 1 +67 Al 2t 12 5,373 0 5,373
—9= (g 5,993 9 #28AI 2+ 12 18,123 53,003 34,880
—9=(8g) 5,903 »2H+67 Al 2t 12 9,637 0 9,637
—Jls7a(ge) 7,457 3 2B <28 Al 2t 128 5,012 11,991 A6,979
—Jls7=2(8Yy) 7,457 3 8B 67 Al 2Hx 122 47,964 0 47,964
—Jlss=(2e) 6,682 x4 H+28A| 2t 12 8,981 21,490 12,509
—Jls82(8d) 6,682 x 1«67 Al 2t 12 5,373 0 5,373
—Jls92(2eh) 5,9933 1 *28A| 2+ 122 2,014 28,911 AN26,897
=gals] 9,365 8,000 1,365
203 FEF&H 9,365 8,000 1,365
01 J2A2ggR=atl 825 0 825
OJ|22EHRFAH 3,300,000& %3/12 825 0 825
04 FAE2IYERFAH 6.300 5,760 540
O H2YYREY|
(350,000&+5,000% « 10 ) » 122+(250, 0002 +2 6,300 5,760 540
JHH3E)
Jl2&Hl 591,003 585,063 5,940
B2 461,220 458,520 2,700
201 &er=gHl 444,580 441,880 2,700
01 AtR2eld| 235,286 232,586 2,700
OfAzgllzdl 69,900 67,200 2,700
=t
(50,0002 x56 2 »12& )+(50, 0002 x9S «3& ) 34,950 33,600 1,350
—=
(50,0002 *56H*12& )+(50, 0002 x0H +3& ) 34,950 33,600 1,350
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DA A
D HESHAHI(AIE AR

CJl2&| L)
SN B ERI(B) - MSAY - BeS 2
(]s] 83,880 80,640 3,240

202 Oid| 83,880 80,640 3,240

01 2L 83,880 80,640 3,240
OYRFAIIE2nH

(120,000 562 *12& )+(120,0002 *9H +3& ) 83,880 80,640 3,240

FES(NSEEAZ) 68,260 0 68,260

BHEXE 68,260 0 68,260
gtet=a 0| Ef 68,260 0 68,260

802 Brat=2DJ|Et 68,260 0 68,260
02 Al - SHIEXZEE= 68,260 0 68,260
OBHSE=A2 e 68,260,000 68,260 0 68,260
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